				C. William Hetzer, Inc. Hagerstown, MD David H. Martin Excavating Chambersburg, PA		Guyer Brothers, Inc. New Enterprise, PA			
Item No.	Item Description	Unit	Approx. Qty.	Unit Price	Total Price	Unit Price	<b>Total Price</b>	Unit Price	Total Price
101	Mobilization/Demobilization	LS	1	\$88,440.00	\$88,440.00	\$28,305.00	\$28,305.00	\$10,000.00	\$10,000.00
102	Clearing, Grubbing & Clean-up	LS	1	\$5,690.00	\$5,690.00	\$10,755.00	\$10,755.00	\$54,000.00	\$54,000.00
103	Erosion and Sediment Control	LS	1	\$1,100.00	\$1,100.00	\$10,310.00	\$10,310.00	\$12,000.00	\$12,000.00
104	Seeding Disturbed Areas	SY	9,615	\$0.70	\$6,730.50	\$0.75	\$7,211.25	\$8.20	\$78,843.00
105	3" Electrical Conduit & 400 MCM Copper Wire & 1 ought Copper Ground	LF	930	\$65.00	\$60,450.00	\$50.00	\$46,500.00	\$110.00	\$102,300.00
106	Connect to Force Main @ Route 11	LS	1	\$8,670.00	\$8,670.00	\$4,300.00	\$4,300.00	\$28,000.00	\$28,000.00
107	Connection to Existing Manhole #15-717	LS	1	\$1,700.00	\$1,700.00	\$1,200.00	\$1,200.00	\$15,000.00	\$15,000.00
108	Connection to Existing Manhole #15-1144	LS	1	\$1,860.00	\$1,860.00	\$1,200.00	\$1,200.00	\$14,000.00	\$14,000.00
109	Grinder Pump System	LS	1	\$51,770.00	\$51,770.00	\$50,000.00	\$50,000.00	\$35,552.00	\$35,552.00
110	8" HDPE DR 11 Force Main	LF	2,767	\$47.00	\$130,049.00	\$80.50	\$222,743.50	\$114.00	\$315,438.00
111	8" Plug Valve	EA	2	\$1,900.00	\$3,800.00	\$1,350.00	\$2,700.00	\$1,550.00	\$3,100.00
112	3" HDPE DR 11 Force Main	LF	5,305	\$26.50	\$140,582.50	\$54.15	\$287,265.75	\$72.00	\$381,960.00
113	3" Plug Valve	EA	6	\$690.00	\$4,140.00	\$575.00	\$3,450.00	\$700.00	\$4,200.00
114	Pavement Repair	SY	1,800	\$52.00	\$93,600.00	\$65.50	\$117,900.00	\$71.00	\$127,800.00
115	Double Air Release Valve and Vacuum Vault	LS	1	\$10,460.00	\$10,460.00	\$10,500.00	\$10,500.00	\$6,800.00	\$6,800.00
116	Furnish & Install Force Main Flushing Connection	EA	3	\$4,000.00	\$12,000.00	\$6,950.00	\$20,850.00	\$2,035.00	\$6,105.00

				C. William Hetzer, Inc. Hagerstown, MD		David H. Martin Excavating Chambersburg, PA		Guyer Brothers, Inc. New Enterprise, PA	
Item No.	Item Description	Unit	Approx. Qty.	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
117	Furnish & Install Air Release Valve & Manhole	EA	2	\$5,990.00	\$11,980.00	\$8,000.00	\$16,000.00	\$3,215.00	\$6,430.00
118	Standard Frame & Cover	EA	2	\$465.00	\$930.00	\$495.00	\$990.00	\$725.00	\$1,450.00
119	Survey & Construction Stakeout	LS	1	\$5,840.00	\$5,840.00	\$12,250.00	\$12,250.00	\$22,600.00	\$22,600.00
120	Maintenance of Traffic	LS	1	\$6,620.00	\$6,620.00	\$12,900.00	\$12,900.00	\$120,000.00	\$120,000.00
121	Casing of 3" HDPE Force Main	LF	240	\$235.00	\$56,400.00	\$485.00	\$116,400.00	\$275.50	\$66,120.00
122	Casing of 8" HDPE Force Main	LF	200	\$355.00	\$71,000.00	\$525.00	\$105,000.00	\$328.00	\$65,600.00
	Base Bid Items 101 through	122		\$77.	3,812.00	\$1,088,730.50 * \$1,477		7,298.00	
C-1	Select Backfill (Approved Earth & Shale) as directed	CY	100	\$34.00	\$3,400.00	\$19.00	\$1,900.00	\$16.50	\$1,650.00
C-2	Select Backfill (DCR) as directed	CY	100	\$39.50	\$3,950.00	\$34.50	\$3,450.00	\$23.00	\$2,300.00
C-3	Miscellaneous Excavation as	CY	100	\$39.50	\$3,950.00	\$15.50	\$1,550.00	\$198.00	\$19,800.00
	2500-PSI Concrete for Cradles, Bedding, and Encasements as directed	СҮ	10	\$165.00	\$1,650.00	\$355.00	\$3,550.00	\$180.00	\$1,800.00
Total Sum Contingent Items C-1 through C-4			\$12	2,950.00	00 \$10,450.00		\$25	\$25,550.00	
Total Sum Bid Base Bid Items and Contingent Items			\$78	6,762.00	\$1,09	99,180.50 *			

\* Corrected calculations based on unit pricing

				Mid-Atlantic Utilities, Inc. Boiling Springs, PA		Underground Const., Inc. Albans, WV			
Item No.	Item Description	Unit	Approx. Qty.	Unit Price	<b>Total Price</b>	Unit Price	Total Price	Unit Price	Total Price
101	Mobilization/Demobilization	LS	1	\$90,000.00	\$90,000.00	\$80,000.00	\$80,000.00		
102	Clearing, Grubbing & Clean-up	LS	1	\$15,105.00	\$15,105.00	\$50,000.00	\$50,000.00		
103	Erosion and Sediment Control	LS	1	\$18,207.00	\$18,207.00	\$12,000.00	\$12,000.00		
104	Seeding Disturbed Areas	SY	9,615	\$1.75	\$16,826.25	\$4.00	\$38,460.00		
105	3" Electrical Conduit & 400 MCM Copper Wire & 1 ought Copper Ground	LF	930	\$71.00	\$66,030.00	\$95.00	\$88,350.00		
106	Connect to Force Main @ Route 11	LS	1	\$14,333.00	\$14,333.00	\$14,000.00	\$14,000.00		
107	Connection to Existing Manhole #15-717	LS	1	\$3,708.00	\$3,708.00	\$5,000.00	\$5,000.00		
108	Connection to Existing Manhole #15-1144	LS	1	\$3,477.00	\$3,477.00	\$6,400.00	\$6,400.00		
109	Grinder Pump System	LS	1	\$46,560.00	\$46,560.00	\$70,000.00	\$70,000.00		
110	8" HDPE DR 11 Force Main	LF	2,767	\$209.00	\$578,303.00	\$153.00	\$423,351.00		
111	8" Plug Valve	EA	2	\$1,575.00	\$3,150.00	\$3,800.00	\$7,600.00		
112	3" HDPE DR 11 Force Main	LF	5,305	\$121.00	\$641,905.00	\$150.00	\$795,750.00		
113	3" Plug Valve	EA	6	\$877.00	\$5,262.00	\$1,300.00	\$7,800.00		
114	Pavement Repair	SY	1,800	\$103.00	\$185,400.00	\$136.00	\$244,800.00		
115	Double Air Release Valve and Vacuum Vault	LS	1	\$20,085.00	\$20,085.00	\$11,600.00	\$11,600.00		
116	Furnish & Install Force Main Flushing Connection	EA	3	\$5,245.00	\$15,735.00	\$6,000.00	\$18,000.00		

					tic Utilities, Inc. Springs, PA	-	nd Const., Inc. ans, WV			
Item No.	Item Description	Unit	Approx. Qty.	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
117	Furnish & Install Air Release Valve & Manhole	EA	2	\$13,186.00	\$26,372.00	\$6,500.00	\$13,000.00			
118	Standard Frame & Cover	EA	2	\$1,407.00	\$2,814.00	\$800.00	\$1,600.00			
119	Survey & Construction Stakeout	LS	1	\$8,150.00	\$8,150.00	\$16,000.00	\$16,000.00			
120	Maintenance of Traffic	LS	1	\$7,650.00	\$7,650.00	\$135,000.00	\$135,000.00			
121	Casing of 3" HDPE Force Main	LF	240	\$183.00	\$43,920.00	\$230.00	\$55,200.00			
122	Casing of 8" HDPE Force Main	LF	200	\$228.00	\$45,600.00	\$275.00	\$55,000.00			
	Base Bid Items 101 through 122			\$1,8	58,592.25	\$2,148,911.00			\$0.00	
C-1	Select Backfill (Approved Earth & Shale) as directed	CY	100	\$24.50	\$2,450.00	\$30.00	\$3,000.00			
C-2	Select Backfill (DCR) as directed	CY	100	\$26.50	\$2,650.00	\$40.00	\$4,000.00			
C-3	Miscellaneous Excavation as	CY	100	\$275.00	\$27,500.00	\$65.00	\$6,500.00			
	2500-PSI Concrete for Cradles, Bedding, and Encasements as directed	СҮ	10	\$350.00	\$3,500.00	\$1,500.00	\$15,000.00			
Total Sum Contingent Items C-1 through C-4				\$36,100.00		\$28,500.00			\$0.00	
Total Sum Bid Base Bid Items and Contingent Items				\$1,8	94,692.25	\$2,17	77,411.00		\$0.00	

\* Corrected calculations based on unit pricing